
Ord.No.10/36

85/1
4x6x1,5

35/13
4x9x4

90155
M4x16

35/13
4x9x4

Ord.No.10/36

11,0mm
10,0mm

Fett
Fett

702/76

832/87

702/97

90160 
M4x18  (S)

90160 
M4x18  (S)

702/76

90845
4x7x0,5

060/30
M4x6

Ord.No.10/36

10,0mm
11,0mm

702/76

832/87

702/97

Fett

Ord.No. 722/75 Umrüstteile für Rotorkopf Robinson R22 auf Rigid
Conversion set for R22 scale rotor head

05/11

1

(S)

Ord.No.702/90
Optional

22 mm

060/30
M4x6

703/41

2x
90085 
M3x16 (S)

Ord.No.10/24



Fett

117/2

90207 
M6x20 (S)

Ord.No.10/36

75/1

11,0mm

832/77

117/3

2x 832/74
soft

056

90537
M6

056

90537
M6

Fett

Ord.No.10/3610,0mm

832/54

052

11,0mm

832/73

832/47 
hard

75/12x832/74 
soft

832/47 
hard

117/2
75/1

832/77

90207 
M6x20 (S)

90147 (S)
M4x12

75/1

90535
M4

117/3

10,0mm832/75

(S) Ord.No.10/24

2

832/75



Ord.No.10/24

68/21

90460
M3x8  (S)

90460
M3x8  (S)

90475
M3x8  (S)

Ord.No.70/105
M3x105mm

Ord.No.107/31
3mm

Ord.No.107/31
3mm

056
M6x49 90537

M6

056
M6x49

(S)

Ord.No. 68/50

Ord.No.70/105
M3x105mm

Ord.No.107/31
3mm

060/23 (S)
Ø 4,8mm

90537
M6

3

Ord.No.107/31
3mm

71/11
3x7x3 90840

3x6x0,3

90385
M4x4 (S)

90840
3x6x0,3

35/13
4x9x4

71/11
3x7x3

90475
M3x8  (S)

35/13
4x9x4



1

Pitch

Nick

Bitte unbedingt beachten!
Mehr Information, können Sie im Video mit der gelben Bell 47 G III auf unserer Webseite sehen.

backward

3

2

forward

left

right 4

Roll

Please pay attention to the advice of setting the direction of the swashplate for this rotor head. 
For more information, please watch the video with the yellow Bell 47 G III on our web site.

up

down


	722-75 s01.pdf
	722-75 s02
	722-75 s03
	722-75 s04

